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(A) Kaiser William 1 ) William 1

(C) Friedrich Wilhelm I o on B
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What type of government wag i, France in 1789 7

(A) Li‘:"itﬁd monarchy (B)  Unlimited monarct 3/12
(C) Aristocracy (D) Democracy .
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What was the main cause of the end of ‘Corn laws’ ?

(A) Increase in population
(B) Excessive agricultural products
(C} Control on corn import

(D) The protest by industrialists and urban people 1
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Where was ‘Bretton Woads Conference’ organised in 1944 ?

(A) Britain (B) USA.

(C) France (D} India 1
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6. Which of the following is a subject of the Umo'rcl:ulcurc
(A) Defence (B) Ag:,lmcf ce
(C) Education (D) Co
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7. Which is the majority group in Sri Lanka ? _ians
(A) Tamils () Chr s'uhs
(C) Sinhalese (D) Musl
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8. Where in the following there is no federal govc;:nmcn 4712
(A) India (B) Belgium
(C) U.S.A. (D) SriLanka
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9, It was the opinion of Mahatma Gandhi that
(A)  Religion can never be separated from politics
(B} There is no relation between religion and politics

(C)  Religion and politics are different things
(D) None of these |

10. ﬁqﬁ:{ﬁﬁﬁﬁ#ﬁ?—ﬁﬂhﬁi@iﬁﬁﬁ% ?
(A) UREE W (B) Yy
(C) ITREH ey (D) Eﬁﬁmﬁ

10.  Which of the following is related to democracy »

(A} Transparent Government (B)  Legiy
(C) Responsible Government (D)  All o ,Late Government
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In which onc of the following states is terracerd farming praciised ?

(&) Horyard ® b

(C) Uuarakhand (1) Plains of Uttar Pradesh
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Which one of the following is a rabi crop ?

(A) Rice (B) Coarse grains

{C) Gram (D) Cotn 1
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Which one of the following minerals i found in Monazite gands ?

(A) Mineral oil (B) Uranium

(C) Thorium (D) Coal i} 1
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In which one of thc fﬂllﬂwing industﬂ&‘i 15 llmCﬁlﬂne ugd as raw

material ? )

(A) Plastic (B} Auton"lo‘bzlc
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( Write answers of these questions in about 80 words each. )
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Caini 2+2
1. Why did the textile exports from India decline in the late eighteenth
century ? Explain two causes. 2=-2
OR
Explain any two types of movements or flows identfied by the
international economists during the nineteenth century. 2+2
2. R TR S R S e w1 W A 2 2
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2.  Explain the basic idea behind the decentralization of poliical power in
India. 4
OR
Explain any two characteristics of distribution of powers between the
centre and states in India. 2-2
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